unp pytn
Puwljut pYtph b juinbuwynp §nnnpuljubkph gmdwpp
nsymd k juwnp phy: lvwunp pyh gpundwbumljut Uk tnué

puuljuit phyp Ynymd £ uwnp pyh undpnng du, huy
nunnpuljp’ Ynuinnpuljughtt dwu:

Ophrurly
2%-]} huwurp phy k, 2-p undpnne dwub k, huy %—1}

ynunnpuljuyhi: Ywppugynmd ' kplne wdpnne kpkp
hhuqbkpnpy:

3 3

2§=2+§

husytu wuljwiunt Ynunnpwlp qpkup juwnp pyh wnkupny.
19:2=9(1d1.)

19 1

22

buswybu juwnp phyp gptip wuljwiuntt §nunnpulh
wntupny.

1 4241 9
T27 2 T2

Unwgwunpuiptibp

* vwnp phyjp tkpluywgptp puuljub pih b
Juuntunnp §nunnpuyubph gnidwnph wkupny.



*n3 5 3
Ophtl 2-=2+

e [0tph gmuwpp qph wnkp juwnp pyh wnkupny.
Ophmy 4+ = 4

3 3 1
7 7
117+2—5 = 1172—5

13 13

e Ultjwint Ynunpulp gpkup juwunp pyh nkupny.
Ophuiuly 19:2=9(1uh.)

19 1
22
32_102
3 3
12_22
5 5

e Tvunp phyp qpkup wbjwint §nunnpulh wnkupny.



v 1 4241 9
A
Ophtuly 4 =——=
21 _ 21247 _ 31
12 12 12
51 _ 530+9 _ 159
30 30 30
72 _322+11 221
30 30 30
315 _322+15 _ 81
22 22 22



